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Please get the signature of the Invigilator
affixed in the space provided in the Answer
Sheet. An Answer Sheet without the
signature of the Invigilator is liable for
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GENERAL STUDIES

Which of the following latitudes is a Great circle ?
& 808 S° ) wgroTR) (& V0E M LEY ot ?

(1) 231/2°N (2). 23172°% (3) 66°N (4) O0°N
Karewa soils are formed due to the deposition by

(1) Glaciers (2) Rivers (3) Waves (4) Winds
E0ar 0)8%es I8 Grgo° JTVOVVER.

(1) rérddboren  (2) e (3) Sormren (4) DdIrew
Which of the following state has witnessed rapid urbanisation during 2001-2011 ?

(1) Kerala (2) Maharashtra (3) Guijarat (4) Karnataka
&8 808 oS 2001-2011 éwgoeﬁi‘q Sormr DYBLGe BodS ovo

(1) S8¢ (2) Doy (3) hzore (4) Somo¥

The cheapest option for the long distance freight movement is known to be

(1) Roadways (2) Railways (3) Airways (4) Waterways
VRS (FroereB VHGD DESabEoS® wdgod WHEO Sarer

(1) &dhargres  (2) STgwrgrer  (3) W Irgrw  (4) 2o Wrgrw

Ground Station of Satellite data retrieval in India is located at

(1) Ahmedabad (2) Shadnagar (3) Dehradun (4) Sriharikota
2 S8B50S” SDMirE Berd (Barod girde Bo(do &®) (@50 ?
(1) edmorerd  (2) FEHAE (3) BEHEErS (4) |Rr08%®

Number of towns in India as per 2011 Census is
2011 zorer B [wsedo 888 508° o Ve Vowg

(1), 5161 2)= 4935 (3) 4041 (4) 3799
Rainshadow areas of Western Ghats have

(1) Tropical wet & dry climate (2) Arid subtropical climate

(3) Humid subtropical climate (4) Tropical semi-arid steppe climate
DB LDy GE), dgramyab (Froety 3&Y 28 - :

(1) eabd 6, Bay (2) & wabd Jgr, DiY

(3) ©¢9 &d eabd Sar (4) eoabd Tere, sgbiy WY
The environmental movement which was against testing missiles on the land :

(1) Bishnoi movement (2) Silent valley movement

(3) Baliyapal movement (4) Posco movement

ghrgr o Bhme DOEH ég@ééom 20N® DorgRBm GO ~

(1) OFoS eseSgivo (2) ’E\_)Boga‘g@) ¢S50

(3) erdafrard r.%CSgé:o (4) % &CSSK:DO
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9. In Telangana State, families of farmers who have committed suicide are given
compensation of gt
(1) T 10lakhs (2) ¥ 5Ilakhs (3) T 15 lakhs (4) - % 6 lakhs

8comad® wd)irdg ToHH) S HevoarI8 oSS o a‘éasaac‘ﬁ Ao
(1) &r 10080 (2) Or. 508 (3) &r. 15080 (4) Or.bofw

10. Out of the total labour force, the percentage of workers engaged in construction in
Telangana in 2014 was

8eomrnd® 2014 &° o 5758 Ropgd® Jomye Sotios® HATD a0 arér —
(1) 10% (2) 9% (3) 8% (4) 6%

11. ITIR stands for
(1) International Technology Investment Region
(2) Industrial Technology Investment Region
(3) Information Technology Based Industrial Region
(4) Information Technology Investment Region

©.8.0.¢8. (ITIR) R

(1) =20LTYURS Bsmod adiDod 52058

(2) =OEPYADS Bsmyed aﬁs?&;ﬁ)oégéaaoﬁas .

(3) aS‘@é&‘&S BS‘lDZé @08 qokyabd S2abS
(4) '5151_33&‘5.15 Bsmo adgodod 522098

12. A person registered under the MGNREGA is guaranteed
(1) 150 days of work (2) 125 days of work
(3) 175 days of work (4) 100 days of work

MGNREGA 80 &% H3m 3‘&»&:’&&&5} ;)Dlss&}’@ b ek 4 EO oSthEHod ?
(1) 150 8%rew (2) 125 &erew (3) 175 8w (4) 100 &eren

'13. The first Open University of India was established in

(1) Ahmedabad (2) Hyderabad (3) Allahabad (4) New Delhi
88D 50S° RS F¥g| B Digdarguabo I8 & Doy D7 ?
(1) @&P&a‘aJ‘S (2) 'é_svdSo"’arE (3) oeodterd (4) ‘ér’g c“}?:i),

14. As per 2011 Census density of population in Telangana State
20119 a2arer S o [wsedo S0 072 s plel (Al

(1) 306 (2) 350 (3) 382 (4) 390

15. Hyderabad Tenancy and Agricultural Land Act was enacted in the year
wEorerd Teo, Hgadrab I¢o Sabadd Vodeé o

(1) 1948 (2) 1950 (3) 1956 (4) 1975
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16.

17.

18.

19.

20.

Which district has the highest ST population share in its total population ?

(1) Khammam (2) Adilabad (3) Nalgonda (4) Warangal
o Zer 2Tyt NOES aTyr DT &W) 2 |

(1) apé:gb (2) odorerd (3) S0l (4) SSoKeS
Major source of irrigation for agriculture in the Telangana State :

(1) Canals (2) Tanks

(3) Wells (4) Water-Harvesting Pits

BeorTe T790S” HEHI A0S WBVEDD (L0 A8 Hothes

(1) sreodw (2) BIYew

(3) eryxen (4) D8 2o hodes

In Telangana, Agriculture sector contributed to GSDP at current prices for the year
2014-15

Buomnd® Hd $8u (LS80 2014-15 Jre ovRg 6838 (GSDP) & HedrabBoifo
eér

(1) 17.5% (2) 25.0% (3) 57.1% (4) 70.0%
Industrial growth rate of Telangana during the year 2014-15 :

(1) 3.1 percent (2) 4.1 percent (3) 5.1 percent (4) 6.1percent
2014-15 foo‘ééadoeﬁ‘ Buorrn 0(T0E vPD)D e

(1) 3.1 7o (2) 4.1=&o (3) 5.1%&o (4) 6.17=0
Who won the Gold Medal for Weight Lifting in the women section in Common Wealth

Championship, 2015 held in Pune ?
(1) Thuram Priyadarshini (2) Indira Priyadarshini
(3)  Karnam Malleswari (4) Kandukuri Rameshwari

2015 &° YRS’ 2000 SO ToPADSADS’ DIrFe Sowd OPoh Jar Ko WY

WSE0 Q0WOd Tt ?

(1) &3S @mcsa,;a (2) =obor (2AbSBI
(3) ¥Swo %D : (4) ¥oH¥rd o0
21. Asper 2011 Census lowest literacy rate district in Telangana State :
(1) Medak (2) Mahaboobnagar
(3) Adilabad (4) Khammam
800 07g90S” 20115 2arer TH e (DS 6o w33 D w¥ougd e Ber
(1) DSE (2) DTrareSorb
(3) oderard (4) gzb&o
22. Planning Commission was set-up in the year
[Pe 0% Doao (FEoHOWS Vowdydo
(1) =, 1947 (2) 1948 (3) 1950 (4) 1951
600 5 Series-A




23. The objective of “Inclusive growth” is emphasized in which plan ?

(1) Eighth plan (2) Ninth plan

(3) Tenth plan (4) Eleventh plan
D08 DY vEg FEG Q) [Rer@ES” (DaRgs aw) ?

(1) QWS (e PE (2) 5"3]3%65‘5 (e 8
(3) VSD (e Y (4) VSE LD (De9E

24. Who among the following, described the revolt of 1857 as the first war of Indian
Independence ?

(1) Ashok Mehta (2) V.D.Savarkar

(3) S.N.Sen 3 (4) R.C. Majumdar

&1 808 T0S° Jodh 1857 Bhiber vl (DF 2 8S redo|Eg LhSorm iJS"Zra‘lcéo ?
(1) %8 Do (2) .8 FH6

3) “SB.a5 2% (4) 6.2, heroard

25. The chauri-chaura incident took place in the year
FO - Tow Vospv ) VosEyEoS® w0Nod ?

(1) 1920 (2) 1922 (3) 1925 (4) 1930
26. Who was known as the “Frontier Gandhi” ?

(1) M.A.Jinnah (2) Khan Abdul Gaffar Khan

(3) Abul Kalam Azad (4)  Mohammad Ali

WO MoR’ M DRGNS Jod> ?

(1) 0.9 2% (2) &S wed Kb e

(3) eewd ero ward (4) ‘é)?'.rgﬁ 1)

27. The third Anglo-Maratha war ended in the year
Qrdd wolf - oo abdo o) LoDEYEOS" whvod ?

(1) 1792 (2) 1798 (3) 1805 (4) 1818
28. Who championed the cause of Dalit communities in Travancore State ?
(1) Ayyankali (2) Kelappun (3) Sahadevan (4) Ayyappan
& R08°6 oregod’ 98 Vi Vg SeathS'8 B)0d b ?
(1) eabgosd (2) Bedy® (3) DHDES (4)  eabginG
29. Who propounded the theory of “Drain of Wealth” ?
(1) Dadabhai Naoroji (2) Mahatma Gandhi
(3) M.G. Ranade (4) B.G.Tilak
00 $EO0RY’ VGPoTEY) T8 [pa&rdood ?
(1) ororeron 36%E (2) DSey mob
(3) oo.2. 558 4) D2 88
Series-A ' 6 600




30.

31.

32.

33.

34.

35.

Identify the first Indian Native Ruler who accepted the Subsidiary Alliance System
introduced by Lord Wellesley :

(1) Hyder Ali (2) Ranijit Singh

(3) Nizam Ali Khan (4) Nawab of Bhopal

o8 ey [HIFVES Py VS VEBY 2 rd8ah TV Fodhd S
©0fi%00w8° H00N0d :

(1) &6 wd (2) BoR&oh  (3) o wdarS (4) Sard dare

The Soldier who revolted against the British at Barrackpore in 1857 and became a Martyr :
(1) Cheeda Khan (2) KunwarSingh  (3) Mangal Pande (4) BahadurShah

1857 &° 2 854r6 (D8R 5008 $38TEorr Bthiberty BV DEHTS PIHED I ?

(1) Dorers (2) Rg6oh (3) HoiSdrod (4) wirdrby
Who among the following took part in the Quit India Movement ?

(1) Motilal Nehru (2) Dadabhai Naoroji

(3) M.G. Ranade (4) Aruna Asaf Ali

& 808 av_aeff‘ 8285 noGode c‘séstuoé" TSN IO ?

(1) Sracrd oo (2) ororeron 62

(3) o.22. 853 (4) %o ol od

Which political party gave the slogan “One-Vote-Two-States” in the context of Telangana
Statehood ?

(1) Congress Party (2) Communist Party of India

(3) Bharatiya Janata Party (4) Telangana Rashtra Samiti

8eomn oYy QoY Dowodod ‘2 Liw Todh orFre’ ©d Ao AWY®

orz8&ad Ss) 28 ?

(1) so@R 3"@ (2) a8 Sdargdoo .:“'Pg
(3) orE8ad wver ) ) (4) Bworrm ovgy VDS
In Telangana ‘Budubunga’ is
(1) atree (2) abird (3) atype of pot (4) afruit
oo [Frodod® ‘andanol’ 8l A sokrd.
(1) =% e (2) =828 (3) =¥ S5 Hod (4) 28 Vo
Hitabodini Newspaper was edited by
(1) B. Srinivasa Sharma _ (2) Devulapalli Ramanuja Rao
(3) Dasarathi Rangacharya (4) Madapati Hanmantha Rao
r&5°0 arge VB Voard Bk
(1) D. (3D 58y (2) TYDY codrer oy
(3) 8B Sormrardgew (4) WrdSrd SFyodory
7 Series-A




36. Secunderabad was named after whom ? .
(1) Secunder Pasha (2) Secunder Bakht (3) Secunder Jha (4) ‘qgécunder Lodhi
50 D VEoE S G0 ? 1
(1) 28086 & (2) Bos6E  (3) 2BoSE 8y (4)  8osb &°&

37. Identify the commander-in-chief who led the Nizam’s Army during the Operation Polo :
(1) Laiqg Ali (2) Kasim Razvi
(3) S.A.Eldruss (4) MehdiYar Jung
GRTRS FES° Vb0’ Jaro Wdg VETVITEIHE 0
(1) eabr§ ed (2) s*Ro¥eg
(3) R AGErD (4) Darbodrbeoh

38. The Mozam Jahi Market in Hyderabad was named after
(1) the second son of Osman Ali Khan (2) the first son of Osman Ali Khan
(3) the brother of Osman Ali Khan (4) the grandson of Mehabub Ali Khan
wdoTerd & Sweowrdr Loy & JHd o VYuEs ?
(1) c%é'gS e S Sodd Hhrddk (2) ﬁs;’)*?ﬁ 0O S e Bardd
(3) &S S JEHHD (8) drerrd odrsS Dbk

39. The Hali Sicca was introduced by
(1) Quli Qutub Shah (2) SalarJungl
(3) Mir Alam (4) Bahadur Yar Jung
D - Vs (PSFG0d
(1) %OLH&T (2) &S Jerbz20h
(3) 26w : (4) 2e&rE afeE20h

40. During the 1857 revolt in Hyderabad Turrebaz Khan was shot dead at

: (1) Medak (2) Shamirpet (3) Toopran (4) Bhongir
10 ESR 1857 8&er s s7w0S’ H(Crdprdd I d 5O Soard ?
(1) DSE (2) &L (3) &ri@rs (4) gbSoRd

41. Khilashapuram in Warangal district was associated with
(1) Padmanayakas (2) Sarvai Papanna
(3) Akkanna-Madanna (4) Gona Budda Reddy
B0 2eret Perardo JH0E Dowodo $OA B ?
(1) bd&moﬁé:w (2) Worgaw &N
(3) w¥D, WD) - 1 ﬁ%wgﬁ%

42. Prataparudra-Yashobushanam was written by
(1) Vidyanatha (2) Ketana (3) Potana (4) Thikkana
[Re=0H(E adFFabrlmoR $DoDod — .
(1)  Dargardcd (2) S&% (3) SK (4) 8KD
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45.

46.

47,
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The sequence of eating and being eaten in an ecosystem is called as

(1) Ecological Niche (2) Food chain

(3) Food level {4) Tropic structure
Earddem ﬁ)s‘éa‘{gc‘)‘ Bd, Bdadhd o (PBWDW dwoerd ?

(1) ‘bo*g‘édmﬁrda (2) o5 DSHIEo
(3) wFEImow (4) Owr Qo0

Who proposed the term ecosystem ?

(1) Rieter (2) Odum (3) Earnest Haekel (4) Tansely
“Domghdm HENY’ (ecosystem) 03 Vo) Jo& [LAFBoT ?
(1) &6 (2) &do (3) YD eSS (4) &S

Name of the Indian Research Station at Antarctica :

(1) Haridwar : (2) Dakshin Gangotri

(3) Aboa ; (4) Mendel Polar Station
©0&r0) B85S g dd VOTET® Soo Wb

(1) &r0argd (2) 58w Kol

(3) xS : (4) Dodd Ferb YOS

When was Biodiversity Act enacted in India ?

(1) 1™ October, 2003 (2) 1* March, 1999
(3) 3™ November, 1980 (4) 3™ April, 1972
e 8S8508° EHINSg B X VobE oSk Baeth ?

(1) e§=8 1,2003 (2) %r0)1,1999
(3) %Howb 3,1980 (4) Q< 3,1972

The process of converting a gas into liquid is known as

(1) Melting (2) Condensation
(3) Freezing (4) Vaporization
2.8 oA (SadrworT éﬁbb (D8 abw JEoErd ?
(1) (SVesHdo (2) HoZheo
(3) ¥oefsdo (4)  erinasdo
India’s First dedicated Multi Wavelength Space Observatory launched by ISRO is
(1) ASTROSAT (2) SPACESAT (3) CASMOSAT (4) CARTOSAT
ISRO (DGTNO DS Fodancses 8 SSBof 2D weryTewd
(1) o9yrd (2) yewd (3) sRGTE 4) sG=E
9 Series-A




49. Which of the following country is recognized as one of the mega diversity centres ?

(1) Thailand (2) India (3) Bangladesh (4) Pakistan
&3 808 aS* DSBS So|%0o (Mega Diversity Centre) rr hooBEd d%5Do ?
(1) orafero& (2) er883%0 (3) worrds (4) 8IS

50. InaHuman body, the size of the
(1) Right lung is larger than the Left lung
(2)  Right lung is smaller than the Left lung
(3) Right lung is equal to the Left lung
(4) Lungs changes & no fixed size
ASd $0808° #12008Hhe VOErDO St 808 NSO Gowod ?

(1) & 088 Qcé‘é::a‘;)éa"l RSB Gowod.

(2) & EOES AEDEIET™) VBT G0oeod.

(3) 26, X &t208hen Vo Godray.

(4) Gr0d8dhe DORO Wrthdr Gotwod, LOSr0 Igéor_r" & 0.

51. In water solution, a base substance will release

(1) HYion (2) OH ion (3) DOxygen (4) Hydrogen
S8&w, A8 E0ASD b &8 800 ‘é.)mgo SeodHhod :
(1) Hedrs ~ (2) OH walrS  (3) w8y=S(0,) @) w&=S

52. The term ‘RATOONING’ is associated with the following crop :

(1) Wheat (2) Sugar-cane (3) Cotton (4) Tobacco
‘Berrdoh’ o3 DSo & 808 Dov® DowodoNos.
(1) &fod (2) I8 (3) 28 4) rd

53. Which one of the following is India’s Supersonic Cruise Missile ?

(1) Agni-2 (2) Brahmos (3) Nag (4) Trishul
81 8308 TBS* DB grE8ad Wb VE (Hrowe DS ?
(1) ®M)-2 (2) La)é‘gf) (3) A (4) LEB%PQ‘J_

54. Where is Integrated Test Range (ITR) facility of DRDO (Defence Research and
Development Organization) is located ?

(1) Hyderabad (2) Pune (3) Dehradun (4) Balasore

DRDO & 0208000 208((8E BF Tof (ITR) I%).¢ &0 ?

(1) 3rdoverd (2) rs (3) BEEES (4) erord
Series-A 10 600
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60.
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Chakali Aifamma fought against the Landlord of

(1) Palakurthi (2) Kadivendi (3) Visnur (4) Jangaon
80 ety @ gD Bthiber ey 0 ?
(1) b (2) ¥&30& (3) dward (4) e=dnro

For which novel Ampa Shayya Naveen got ‘Kendra Sahitya Academy’ award ?
(1) Kala Megham (2) Telanganam (3) AmpaShayya (4) Kala Rekhalu

sontabg HAS TS 2 TheH So|E Ferdg e v ©HoD0s ?
(1) s*eddvo (2) Beormrso (3) eoddabe (4) srelmew

‘Maneru’ river is a tributary of

(1) Godavari (2) Krishna (3) Penganga (4) Manjeera
hrad’ God &0 ?
(1) Hond (2) (3) DS (4) oo

The Devadasi/Jogini system prevalent in Telangana would be violative of which of the
fundamental rights ?

(1) Right to Equality (2) Right against Exploitation

(3) Right to Freedom of Religion (4) Right to Life and Personal Liberty
S8vorrm (rododt &¥ Tnod Tow a2 Hgy S: 308 (P &y o’ B
&0oanod ?

(1) }’Jéﬁr'oés‘ég) ;’J"ﬁ}zr (2)  H&5 EeE o8

(3) & JgsoBg) Ty (4) 2Dod, DgdKe fogi’)g &),
Identify the Law Professor who was a member of the Sri Krishna Committee :

(1) Prof. Vikram Singh (2) Prof. Ranabir Singh

(3) Prof. V.K. Duggal (4) Prof. K. Nageshwar Rao

(B8R EDSEE® Vahglm &) SrgabwrRy (FHOE® hYoRyw.

(1) (@06 ook (2) |8 SwhEoh

(3) ([ 0E DB, Hife (4) (@06 8. >0HETR)

Which town was the district head-quarter prior to formation of Mahaboobnagar district ?
(1) Gadwal (2) Wanaparthy (3) Nagarkurnool (4) Narayanpet
Wdrarddnl Borm D8EE ok J Dhmo 2 SoEorm &oad ?

(1) Sogd (2) ®NDY (3) =HG8Emes  (4) Socabwd

The total number of tanks/lakes proposed to desilted under the scheme of ‘Mission
Kakatiya’ of Telangana Government :

Seormren (Rebdeo (DEGODD ‘LS S°E8AY’ Vo Bod Ry oYt Lral
Aafred Voo ?
(1) 9300 )i (3) 46500 (4) 54000
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62. The novel written by Dasharathi Rangacharya with the backdrop of Telaﬁgana Peasants
Armed Struggle : ?
(1) Gangu (2) Prajala Manishi (3) Cheekati Rojulu (4) Jana Padam
Seorre Jrag Serolf Jord SDPges® T iEs Sormrordg $DoDD whe ?
(1) o (2) EPmeddy () WESGerw (4) =5bSo
63. Who is the author of famous song “Jaya Jayahe Telangana” ?
(1) Goreti Venkanna (2) Gaddar (3) Guda Anjaiah (4) Ande Sri
‘abzabir Beomrn o (Pgrgd Babrd) oRd 8D
(1) &'ses 308y (2) KQSS (3) rd womaby (4) wod L-SR
64. The famous sand Artist from India :
(1) Sunder Patnaik (2) Sudheer Raghavan
(3) Sudharshan Patnaik (4) Sadasiv Dube
P ESTH (Dyrgd WES S s hd
(1) 08 Deryabs (2) %288 o=iwdS
(3)  DSEHS Dereyads (4) D8 &
65. Who among the following, the Indian Constitution recognizes as a minority ?
(1), Linguistic (2) Gender based
(3) Regional based (4) Forest based
88 oremgoiio 800 &70S* DO @00y Doreor H8oD0s ?
(1) SRS (2) OorLEIS (3) |(rodhdorr (4) esdNOSon
66. National Commission for Women was established in the year
2 8ah dree EBNSH Joy Bd VovE8o
(1) 1992 (2) 1993 (3) 1991 (4) 1996
67. Whose Ph.D thesis was entitled “The Problem of the Rupee : Its origin and its solution” ?
(1) Dr. Manmohan Singh (2) Dr. C. Rangarajan '
(3) Dr. Montek Singh Ahluwalia (4) Dr. B.R. Ambedkar
‘B (@D Y &rd : ad) wd2S vk &) PerghS o3 DHE &H 2168 dgrod
a"ga*bl [epleTarte e
(1) @50 DIDLSVoh (2) @E8 Q. SoKoras
(3) %6 SroBEVOA wirsErdalr (4) @6 B.06. ©odd) 6
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68.

69.

70.

71.

72,

600

Which country has awarded ‘Order de la Democracia Simon Bolivar’ to Indian spiritualist
Sri Ravi Shankar Guruiji, for helping to restore peace in their country ?

(1) Bolivia (2) Colombia

(3) Paraguay (4) Cyprus

& BHod® wodrerdinme IET0DH KA BUonH s Gy E3

5D 048 gl ‘w86 & oo G E1afr VS T°OHE’ @I (VTR0 S5 d%o

(1) SOJcke (2) Feodabe ,

(3) ‘:bo'ﬁs (4) @S

In which place the first Indian Defence Industrial Park is proposed ?

(1) Kerala (2) Goa

(3) Madhya Pradesh (4) West Bengal

2 ESTH0S* BORSE ¥ FOTDE FE & oy Babe ey ?
(1) S5 (2) = '

(3) DFgSF (4) D3y Borrd

According to the recent report of National Crime Records Bureau (NCRB), what is the
National suicides rate for one lakh population in India in 2014 ?

S0EES 39S 0575y g8 (NCRB) S & (05780 2014 &* Fhod® (18 o DodS* Jod
D08 rddahes sHirdseH regdh ?
(1) .10.6 (2) 10.2 (3) 9.8 (4) 95

As per Tourism Ministry, Govt. of India, which State was attracted more National and
International tourists in the year 2014 ?

(1) Telangana (2) Kerala

(3) Andhra Pradesh (4) Tamil Nadu

28 VorgerE o |B&emry (DS 0 2014 &F D Hod T3aH - ISBaAD DogoHew
@E0owN o"y9o

(1) - 8wonre (2) So¢ (3) woRd% (4) ST

‘Prime Minister’s Kaushal Vikas Yojana’ is meant for

(1) To provide employment for youths

(2) To provide pensions for unemployed youth

(3) To encourage skill development for youth

(4) To provide financial support for entrepreneurs young

(PR 0@ ‘THS D570 Ared’ B8 6530008 ?
(1) chdsS &5556 Eoyo

(2) .‘Od)ﬁsgﬁac;é) Vo wocEabdo

(3) ofvdss® Syeagd WodrododEabio

(4) oo O|F¥ 3§0§> egﬁ VeFrabo wodotdo.
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73. Name the French company that supported ‘Make in India’ : o8
(1) Airbus (2) Airjet 21}
(3) Airmate (4) Jambojet
‘D8 a8 208057 H DEHIVYS (305 L0 A6 ?
(1) dawbo (2) dandB&S
(3) QowbDE (4) woS*BE
74. Name of the painting that Narendra Modi has given as a gift to France President,
Francois Holland : '
(1) Jeevana Jyothi (2) Jeevana Vruksham
(3) Grama Jyothi (4) Bharatha Jyothi
() 885 (oS HF¥oro@H HTo(EBra wrEBoRd WAool W&
() 285 a‘?‘g@ (2) 2D 9)%o
(3) (o %3 (4) oS %3
75. The Chemico Corp. of which country recently India entered an agréement to import
3,220 Metric tonnes of Uranium ?
(1) Australia (2) Canada
(3) Germany (4) France
a¥de o T8 Bodd DS’ iy uoaé‘ PrE8a%0 3,220 SS e abddado
&S §%0 2050 HHHNDOS ?
(1) e gjé’)oﬁ:" (2) S
(3) 28 4 @
76. As a part of tour to which cduntry Narendra Modi inaugurated International Yoga Day
website ?
(1) - Canada (2) Germany
(3) America _ (4) France
2 3% DEgedS*® ar o Brd ©08g>80h e ATV ITPED (FFoDowd ?
(1)  Sha (2) 25
(3) ©ds® () @*SD
77. Indian origin American, who is appointed as American Ambassador to Sri Lanka and
Maldives :
(1) Richard Verma (2)  Atul Kashyap
(3) Bobby Jindal (4) Chivkula Upendra
[Buo¥, &r@Hed wD0s® oraberdm JHDHTS 88 DosBE Jodd SRS
‘ég% I ?
(1) 038 ) (2) o SRS
(3) rd 2o (4) DPHe oS
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78.

79.

80.

81.

82.

83.

600

According to the National Geographic Travel Magazine the rank given to Hyderabad
among the Best of the World 20 places you should see in 2015 :

(1) Two (2) Four (3) Six (4)  Twelve
SUE o (1138 (B LrghBS (D780 2015 &° ek 20 GED (Ko STruS
wSorerE® O %00 ©HoDod ?

(1) GCo (2) rentd (3) e (4) Kﬁlocé:o
Name the pension scheme launched by the Telangana Government.

(1) Bharosa (2) Aasara (3) Roshini (4) Sahaya
Scome [LehEgo (FEoDoDd WS V¥ W ?

(1) & (2) odoe (3) - &4 (4) o

Name the Foundation started by Nana Patekar to help the families of suicide farmers in
the Vidarbha region :

(1) Satnam Foundation (2) NAP Foundation

(3) NAM Foundation (4) Nana Foundation

- Yy |Frodos’ wdirde 3‘&35}‘{&& S Hevoered Ltaho Doda s oo HBLE

zg"?uo{)‘é }(Jo}’é) L
(1) Deo FoBAS (2) D FodAS  (3) D FoBLS  (4) T FodhS

The winner of Nobel Prize in Literature in 2015, Svetlana Alexievich belongs to which
country ? :

(1) Russia (2) Tunisia (3) Czechoslovakia (4) Belarus

2015 &° FIégo® B wlrid ol e 9885 o I8 Todd
SSam(& ?

(1) Sarg (2) worgdab (3) BEF8ar (4) DS

Who was the first writer to return the Honour given by the Sahitya Akademi protesting
against rising intolerance in the country in 2015 ?

(1) Nayanatara Sahgal (2) Waryam Sandhu

(3) Ajmer Singh Aulakh (4) Sarah Joseph

2015 &° WOATELD) D ebirard AR Ferg esvehad oTHD 398, 2o

IoLTEES 998 It ?

(1) Dabved arid (2) a8go Voghr
(3) e28vof eyers 4) Jroe =
Komaravelli Mallanna Temple is located in the district of
(1) Medak (2) Karimnagar (3) Ranga Reddy (4) Warangal
EE3O DD Toredho o 2eS® God ?
(1) DSE (2) &bo%i8 (3) 60n‘°3§ (4) BBoNd
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84. The Director of Telugu Film “Nimajjanam” which won the Best TeluguiFilm National
Award in 1979 hailed from Karimnagar District. What is his name ?

(1) M. Prabhakar Reddy (2) B.S. Narayana

(3) Tyagaraju (4) Narsinga Rao

1979 &° Beoth raah &SR JWET JODS ‘S‘c’mgﬁoo’ CS?S,;S‘.)CSJ 60516 a?g’é)
Dol k. wahd VB ?

(1) oo. D86 3& ' (2) .0, srorabe

(3) evgﬁovaa’ (4) }‘aagoﬁo*ép)

85. How many spokes are there in the Ashok Chakra of the National Flag ?
2 30H Boar S 0FE SFE0S” ) Widgeszmyow ?

(1) 24 (2) 34 (3) 26° (4) 36

86. Who organizes World Twenty-20 ?

(1) BCCI (2) Hcal (3) IcC @) cc
(D0 @208 -20 D IO A D ?
(1) D2 (2) eR.R.@. (3) ... (4) v

87. The popular Dance form during the Kakatiya period was

(1) Chindu (2) Yakshaganam
(3) Perini Shivatandavam (4) Kakatikeli
sSaabe Steodd Dergd v)sgo

(1) Do (2) obErRo

(3) Vo3 Fdheroddo (4) s°¥839

88. Who composed Music to the recent Telugu Movie Rudramadevi ?

(1) A.R.Rahman (2) Keeravani

(3) S.S.Taman (4) llayaraja

& ‘a'mc_f:gs‘c;oé‘"‘ BT Beotd WU HEHTNS Vohierd) Joth VDErEYTD ?
(1) 8. Edrs (2) &&=ed

(3) .. S (4) afadborer

89. The famous Telugu Film Lyricist Chandra Bose belongs to which district ?

(1) Krishna (2) Prakasam (3) Warangal (4) Karimnagar
(Paregs Beatd 2ACH FSand oy o 2D DoddeD ?
(1) & (2) (ds~Ho (3) HBoied (4) ¥bodK&
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90. In Telangana villages Ganagalam is used for which purpose ?

(1) Cooking Food (2) Storage of water

(3) Storage of Grain (4) Measuring Grain
Beomes VTS° Horreo A8 AN ?

(1) %06 Jadbad (2) b@}o@ Qeg GoBE 3
(3) qmbso bos GoBEr8 (4) qmbso Codaels

91. Which of the following is an instrument used by the carpenters ?

(1) Hammer (2) Sword
(3) Badisha (4) Karru
&1 808 &S Hgon &NGBAoT LIhww I8 ?

4 (1) 8 (2) 8
(3) erdid (4) E®

92. ICRA ranked Telangana State as A+ for the following reason :
] (1) Telangana is a newly formed State
I (2) Prompt Repayment of Loans
. (3) Telangana has very good State’s own tax revenue
(4) Telangana has very large Land Bank
& 808 52620 Dy ICRA Buormem T°ar9a8 A+ e 8ye008 !

(1) Bworrs S&m 8 & oogyos el

(2) edyud WsTeod® BOoDDD Dy.

(3) Beormre o*‘é.zjoé's o8 Vv sordho Kb Goddo.
(4) Becomedt SRR a;ﬁ‘argog O Poddo.

93. The other name of the earthquake occurred in Nepal in April 2015 :

(1) Himalaya Earthquake (2) Gurkha Earthquake
(3) Smiling Buddha (4) Terai Earthquake
DS 2015 &* IFES* LoD DS o8 LEE D
(1) arread gheSono (2) ﬁrg‘ 2r¥on0o
(3) ':.:2805 wg (4) 8o~ab 2hr¥olo
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94,

95,

96.

97.

59,

100.
101.
102.

103.
104.

105.

106.

107.

108.

Today, | have to appear for interview at a software company in Hyderabad.

(1) an (2) the (3) =ka (4) are
While travelling yesterday, | met famous actor on the plane.
(1) an (2) the (3) a (4) are
accident during the rush hour can hold up the traffic for hours together.
(1) An (2) The - (3) A (4) Are
This factory some of the best watches in the world.
(1) manufactures (2) is being manufactured
(3) manufactured (4) manufacturing
Many . believe that global warming is affecting our climate.
(1) scientist (2) scientists (3) science (4) person
A little has been done in this area.
(1) researcher (2) researches (3) research (4) researched
The new drug prevents the fungus spreading all over the skin. :
(1) on (2) from (3) in (4) over
Do you have any knowledge how our government works ?
(1) about . (2) of (3) for (4) if
He was very anxious the outcome of the interview.
(1) of (2) about (3) . tor (4) if
Most engineering students choose to in their own accommodation by the time
they reach their final year.
(1) lives (2) live (3) are living (4) lived
From this graph, we can see that the pollution levels in our city at the moment.
(1) increased (2) increasing
(3) areincreasing (4) will be increasing
If the current trend continues, the average income by 50 percent.
(1)  willincrease (2) increase (3) increasing (4) increased
Some of the applicants to face a Group Discussion round before being short
listed.
(1) have (2) has (3) will (4) am
The Mess Committee meetings and discussions before deciding the menu in
the hostel.
(1) conducting (2) conducts
(3) has conducting (4)  will conducting
Today, the children . late for their school.
(1) was {Z) s (3) were (4) am
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109. Directions? " In the question given below, there is a statement followed by two
assumptions‘ numbered (1) and (ll). An assumption is something supposed or taken for
granted. You have to consider the statement and the given assumptions and decide

which of the 'és;sumption(s) is/are implicit in the statement.

- Statement : Cadaver organ donations on the rise in Telangana - A news report.

Assumption | : Cadaver organ transplant operations are not successful in other states.
Assumptidn‘fl“‘:l' : People of Telangana have realised the importance of organ donation.

(1)  If only assumption (1) is implicit.

(2)  If only assumption (1) is implicit.

(3)  If neither (1) nor (ll) is implicit.

(4) If both (1) gnd () are implicit.

rddee 1 S (DHS 28 DEGS (Statement) DO Bodkh ‘erdodd womrey’

(Assumptions) Faggraw. a8 (DEGS TaHEe8 SNAEr Jereor oD

WOTUD ‘20D woFEeLoT’ DEY D). AR woTe wErdons (P8R
Sabdo adrb@od. Ao REGS DO ‘FrIoDd worud' HO8BD HELD

Baba8 D wo%o Tav worres grdoBagrdr HloSod.
(PE&D : DRSS wDASDER0 Beomrns® WHHE S - 28 srge Edko.

PR0UN wodo — | : DErdodSo VEOoVS whadirad 3T Lud o0y [HBad
Difer o P9’ Juabnodo sED.

FPROWN Wodo — Il : H¥erdosd wdhohdorbo ci'»ézr @B’:ai)mbl B0 Ebzse.o @go
DB .

(1) 2rJoDDd woko -1 dr@D

(2) 2oV woHo - Il dr(ED

(3) 2OV wodo -1 oA Il %)

(4) a_ré)o{)é ®0%0 -1 Doah 1l
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110. Directions : In the question given below there is a statement followed by two
conclusions numbered (I) and (Il). You have to assume everything in the statement to be

true, and then decide which of the two given conclusions logically follow(s) beyond

reasonable doubt, from the information given in the statement.

Statement : The food-grain production in India during 2014-15 is 252.68 million tonnes

(MT) as compared to 265.04 MT during 2013-14.
Conclusion | : This is the first time the production of food-grain has fallen when
compared to previous year.

Conclusion Il : The government has not provided adequate loans to farmers.
(1) If only conclusion (1) follows.

(2) If only conclusion (I1) follows.

(3) If neither (1) nor (ll) follows.

(4) If both (1) and (Il) follow.
ardoen 1 S @%lé" ¥ (LE&R (Statement) oA To Dg’oﬁre.a (Conclusions)

FRQRGEOD. AN (LELBD g o A o Aobres (DEGS sgrdormr oAb
dagomr DabaddS hoood.
BEwS : rEsdiod® ulsderarge &$33 2014-15 LodEYE0S® 25268 DOWS

Lo, 2013-14 &° 265.04 DOADS Gy GoB.
QFobo 1 1 KEDS VodSYE0& FPOY s orarge GE8 SKdo ad IwESBI-0.
Dgabo — I : (0zdg0 Teheo SAVOST By ©oBoBTD.

(1) Jgado - 1 &rED
(2) dgabo — e (ED
(3) Dgabo - 19Ba Il s

(4) Qgabo - I'0a I
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111. Directions”: In the question given below there is a statement followed by two courses of

600

actions numbered | and Il. A course of action is a step or administrative decision to be
taken for improvement, follow-up or further action in regard to the problem, policy, etc.
On the basis of the information given in the statement, you have to assume everything in
the statement to be true, and then decide which of the suggested course(s) of action

logically follow(s) for pursuing.
Statement : There are many motorcycle accidents in the city these days.

Course of Action | : The authorities should encourage the motorcycle riders to use

helmet. .
Course of Action Il : The motorcyclist should be discouraged to drive at high speed.
(1) If only Course of Action (1) is suggested.
(2) If only Course of Action (1} is suggested
(3) If neither Course of Action (1) nor Course of Action (1) is suggested.
(4) If both Course of Action (I) and Course of Action (1) are suggested.
Ledhen 'a{'.)‘)}’o [‘_c’o%;‘e.‘)* 2.8 (DELD (Statement) oA Tod SoE5e S 1565&0
(Courses of action) Z@gagrav. S08%%e S WS (EORE ‘é‘é:'{asé) Lo Bo
SPdr Fear Fegom DO ewd Jeamw &owd. [DEORST DEYY)

| W0TeR Jred raowrd. W0 (VIO dab S8 S SEge

B0 1D W SDHI AFAF) WIS WErGrRon 180S0,
(BELS 1 G g rerd S [Drores BB 25HrhET) av.

BLEHDNS $83 - | 1 el PESWEVY TS TELLM Voosd wdsHhe
(@ EySrowrd.

SWEBD Y 383 - I : b VES BE Vo 08Fom bibHoa Jaho(@owrd.
(1) SLEDLVD By - 1 r($D 0 DOD.

(2) SWEHLVS SUg - 11 (@D 0 DR,

(3) =dgwa% Sodkh SETOVS Bge SREDD.

(4) =dgwd Sod 0SSO0 Sdges IR,
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112. Directions : In making decisions about important issues, it is desirable to be able to
distinguish between ‘strong’ and ‘weak’ arguments so far as they are related to the issue.
‘Strong’ arguments must be both important and directly related to the issue. ‘Weak’
arguments may not be directly related to the question and may be of mlnor importance
or may be related to the trivial aspects of the issue.

The Statement given below is followed by two arguments numbered (I) and (I1). You have
to decide which of the arguments is strong and which is weak.

Statement : Should we scrap capital punishment ?

Argument | : Yes. No one has the right to kill another human whatever be the reason.
Argument Il : No. The fear of death sentence will stop people from committing heinous

crime.
(1) If only argument (1) is strong. (2) If only argument (ll) is strong.
(3) If neither (I) nor(ll) is strong. (4) If both (1) and (l1) are strong.

ArSder 1 Qgatres BDHI wotd & atre D v dERd ared® (arguments) D
DUDED, DD VUSFRDRD ©d 8OV doddo wHdJo. VUDD T (DEGLRST
womRd I, Lowodo ¥OA WPIIRITI  GoLray. VOIS Torw
(PELRSTR o8 S Dowodo TID mEr Sor VP ERg0 EDADIT
G odro.

& A S* rfomr w8 [DEWS (statement), Bod arcres (arguments) ARG,
QDO (DEGDD, FroruD DOFOD A TS0 weDHE, pudrEDEE Aawosod.
PERS : e BEw Sufowrer ?

B0 — 1 IYW. 600 ITHNYBE 2.8 DAY (Fre0 00T L&y Jigds .

FoE0 = 11 : B, Deabodd Pabo SFodod (Erd Dves FahHoa wydhod.

(1) &&o -15r 8D eI, (2) oo - IlTrEd weDRB.

(3) BWY® Todd Fares VeI ™). (4) =3O Told Farew DOIVD.

113. Directions : In the question given below there is a pair of events (I & Il). You have to read
both the event (1) and (Il); and then decide the nature of relationship (cause and effect)
that exists between them.

Event | : The demand for solar panels has increased many folds.

Event Il : The government has widely publicized the benefits of solar energy.
(1) I (1) is the effect and (Il) is its immediate and principal cause.

(2)  If(l) is the immediate and principal cause and (ll) is its effect.

(3) If(l)is an effect but (Il) is not its immediate and principal cause.

(4) 1f () is an effect but (1) is not its immediate and principal cause.

Rrdides 1 & 808 @)D G0k VoLRU (events) LOFDOD ¢ Wiy wioy
s*Sase8¥ (cause and effect) faouog‘fblbgo»oéo&.

BoRED — 1: w8508 Wwod Ahes Sarrd TV Vede Aord AT Tew VOA.
D0ReR — Il : B8 Grgom 0BT SNVA MY HOOW [LEhEgo AE Derdo Bod.

(1) Dop&R - [Derho; 8 (DE™S S Em0 VoteR ~ II.
(2) VOO -1l [DerD0; GRS (DFTR S*Pm0 VOISR ~ 1.
(3) Do -1 (LeH0; 57 a8 (DER SPE0 WoeD - Il %K.
(4)  DOWED - 1l [{L27H0; 57 a8 DETH S°8e0 VoeD - | 5.
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114.

115.

600

116.

117.

118.

PR

If the total number of dots on opposite faces of a dice is always 7, find the correct figure
given below : |

a8 UED &%) o) WyreP DHw D, J HgBTE WwyreD ad) HE) o Do
ST 75008, S 808 &%) O FDES & Doy EIVos ?

) o (1

LE

() e =l ‘ (V) 2

® @ m
@) . @ (v

Pointing to Venkat, Vasantha said, “He is son of my father’s son”. How is Venkat’'s mother
is related to Vasantha ?

(1) Daughter (2) Sister-in-law

(3) Sister (4) Aunt

‘et T a“él §HHE BEL’ o Bhod I08SD z‘.ﬁa'&:"__m @08. J088 éQ DoosH
QDD Hod ?

(1) &rehDd (2) QBB grds

(3) %56 (4) 3.)&)1

If RAMU is coded as WOCT, then the code for NEST will be

a8 S&P0g rRS® RAMU. 03 Dardy WOCT 1 DO, NEST o 00, © arid
e wrHehod ?

(1) PHWU (2) UVGP
(3) VuPG (4) VUGP

A, B, C, D, E and F are standing in a circle. B is between D and C. A is between E and C. D
is to the immediate left of F. Who is standing in between A and B ?

A, B, C D, ED0aF 28 D)ers dod” Jewd ¢am)®. D, C o Dig B damd. E, C v
g A s, F & D6H I XLF D aId. A, B o g ot s ?

(1) D (2) E
8y T (4) C

fM=N;R=S5;N>T; Q< N, then which of the following is true ?
M=N;R=5N>T; Q<N ead & 808 s8S° 8 Dégiw ?
(1) N<M (2) T<M
(3) N<Q (4) M<Q
23 Series-A
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Directions : (Q.Nos. 119-123) Study the following radar diagram carefulli’énd answer the
questions that follow : &

Number of Students Enrolled in Three Different Disciplines in Five Different Colleges.

Srdtes (Bopg 119-123) @ 808 90D oPard dafriSD D000V © 808 Ao
PHeSH VO Vargrarem H0owod.

2% Eerare st burdh darmred® J0% g Doag

—p— B.A :\- w== B.5c ——B.Com

D C

119. The number of students studying B.Com in college C forms approximately what percent
of the total number of students studying B.Com in all colleges together ?
C Serared® B.Com Sy Jghe Vowg o v rod® B.Com WeHYHER)
B0 dorgdhe VowgS® Wi Jod FEo ?
{1). 27 ; {2) ol (B3 16 (4) 17

120. What is the respective ratio of total number of students studying B.Sc. in colleges C and E
together to these studying B.A. in colleges A and B together ?

C S0k E Swwed® BSc. Spdiv) SQS?u Doab A, B Ewvrmres® BA.
BDYEY) Aargde WY GR) JS oo ?
{1} ‘24323 (2] =507 (B) 29573 {q)y=2g- 25

121. What is the respective ratio of total number of students studying B.Sc, B.A and B.Com in
all the colleges together ?

o) Ev e’ 02 B.Sc, B.A. 0AH B.Com $OS Qamghe Vowg @ VHBS® &0d ?
(1) 71:67:75 (2) 67:71:75 (3) 71:68:75 (4) 71:75:68
122. The number of students studying B.A in college B forms what percent of total number of

students studying all the disciplines together in that college (Rounded off two digits after
decimal) ?

B Serared® BA. U0 Darghe Dowg o3 Evarud’ do (ud) Jyrmre $0)
Dcrsgme‘f Jod TS0 (BVS S0°gs Toch T DED) ?
(1) 26.86 (2) 27.27 (3) 29.84 (4) 28.94
123. What is the total number of students studying B.Sc. in all colleges together ?
o) Evared’ LD B.Sc. $08 Sdo Dy Vowg o ?
(1) 1825 (2) 1975 (3) 1650 @) 1775

Series-A 24 600




124. Which Constitutional Amendment provided that at least 2/3™ members of a legislature party
should agree for a valid merger with another political party ?
(1) 91" Amendment, 2003 (2) 91" Amendment, 2004
(3) 91* Amendment, 2005 (4) 91" Amendment, 2006
) orergol Whdm [wsedo a8 oradad FQ 2088 FPS* V%0 sPEreod Ko @

TR0 DE0SP 2/3 % bodh 7L Lghges @IS0 Buard ?
(1) 915 VHYes, 2003 (2) 915 LHYes, 2004
(3) 915 ::.)‘5529, 2005 (4) 915 THYes, 2006

125. Which of the following statements is true in respect of the Supreme Court and High Courts ?
(@) The High Courts have no original jurisdiction to protect fundamental rights.
(b) The Supreme Court is an umpire in resolving inter-state disputes in all cases.

(c) The jurisdiction of High Courts under Article 226 is wider than that of the Supreme
Court under Article 32.

(d) The jurisdiction of the Supreme Court under Article 32 is wider than that of High
Courts under Article 226.

(1) (a)and(b)only (2) (b)and(c)only (3) (c)only (4) (d)only
D@08 W, EDeBH Vowodo 80d TESF @ VEDOE VTHE ?

| () WEDUD (DBDE ey > DOSFOD VPSS 1O T.

5 (b) o) Esee wodorgy Jarore WO, TS WDOE'S 2.8 Jrgad Séérr" BEETOPOB.
| (c) ©88E226 (D5 8o &Y wfs8 VOB, ©ES 32 Ds7¥0 WD0E’ VOO K~y
T DB,
(d) ©88d 32 (D580 WRDoE'H wis y V0B, wdsS 226 (wsdo & LY
Eon) dTUDRB.
(1) (2) 00 (b) & (2) (b)Ba (c) oD
(3) (o) Tor(&D (4)  (d) &S

126. Article 105 of the Constitution deals with

(1) Powers, Privileges, etc of the Houses of Parliament, its members and members of
committees thereof

(2) Powers, Privileges, etc of Houses of Parliament only

(3) Powers, Privileges, etc of Parliament members only

(4) Powers, Privileges, etc of the State Legislatures and their Committees
orergoifo® 105 % ¢0¥E 808 S8’ B8 Low0QoTRd ?

(1) FEDo& egab Lefe Vabge woah EDSeE' Vehge (HFgE whseTres WO
(g8 Dbatees,

(2) rgRod sefab vafe @3355 wdsPore, Whraires.

(3) FEDod Jghge Loaésé o8 s ore Dok Vb afres.

(4)  TEr9eS™ T Lgfes DO e Rhge GE) (DEK w5 Tres DO “nxf»é'cﬁru
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127. The President enjoys pardoning powers under g
(1) Article 72 of the Constitution (2) Article 73 of the Constitution
(3) Article 74 of the Constitution (4) Article 75 of the Constitution
g8 Trayas 5 wwgoﬁ (PE8m0 [Wsto Frd wdstorw VoEdowrow ?
(1) e8¥d72 (2) ©98S&73 (3) w8874 (4) ©8&S75
128. Smt. Selvi Vs State of Karnataka is a landmark decision relating to
(1) Narco-analysis tests (2)  Encounter killings
(3) Death penalty (4) Handcuffing of arrested persons
(B8 O3 Vs Komb¥ (Dghdeo o Dive &%) 808 & O @078
Lo20HOWHE ?
(1) 8% - DFhee DO¥en (2) OSE oL rdges
(3) D83 (4) &0 wowd HgHeH Péeo Iabo.
129. Among the total members of Rajya Sabha, how many of them are nominated members ?
oraguft Bdo ehged® Jodhod FOIBE 2HeT Potrd ?
1y 10 o) (S (3) o8 (4) 02
130. To ensure impartiality, the retired Judges of the Supreme Court are debarred from
practicing law
(1) in any Court other than State High Courts
(2) inany arbitration proceedings
(3) inany Court of India
(4) in any Court other than the Supreme Court
a‘soﬁs ‘és‘é)‘cge?a" QPHEEED  JQoWHOB, ‘&»@Jo?%ﬁ: oD DB D odS
Srgabiurdes € 800 §Ped® (FED Sohard) Powrd ?
(1) o*ogt“jué‘b }?gﬂg,gi é‘é)a =111e] ?gzoé*
(2) Ja DSOS e 0o ore st
(3) 288850 o a‘goﬁgﬂaoé“ém
(4) W08 Sy Q) asds EHus I
131. The Constituent Assembly of India was set-up
(1) through a resolution of the Provisional Government
(2) by the Indian National Congress
(3) under the Indian Independence Act, 1947
(4) under the Cabinet Mission Plan, 1946
288 oremgol DOLED @ o Déaba‘da ?
(1) o8 eres) dOF Habde 3013}60 orgo
(2) 288 er8ad sPo(AR ago
- (3), 8 IbséoLé Sdo, 1947 80
C(4) 1946 8 5°gARE S DF¥o [wstBo
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132. Janani Suraksha Yojana of NRHM aims at

133,

134.

135.

600

(1) HealthEducation = - (2) Child care

(3) Reducing maternal mortality (4) Vaccination of mothers

2 &ad anf.jm-es‘eﬁg DURSS®R 2o BY ared e GI%0;

(1) e&g gk oyosdo (2) R DodEm

(8) Swo D Teedy Shosdo (4) Sewed dstewr Sawosdo

Following is an important contentious issue between Land Acquisition, Rehabilitation and
Resettlement Act, 2013 and Present Amendment Bill, 2015 :

(1) Financial Impact Assessment (2)  Cultural Impact Assessment

(3) Environmental Impact Assessment (4) Social Impact Assessment

b V&S, YR W0, 2013, (D& VhSm Dep, 2015 o Ko [Devd dararoBo —
(1) e:sg§ @JQPWDQ_ 8 oddo. (2) Srolyy8s [Parardy ©&) o&o.
(3) émgédca LT:'.JEJ‘H‘Q). S8 ou&o. (4) Sror2¥ @Ja}varbl ©8) 0%&0.
Which is an incorrect objective of RUSA ?

(1) Correcting regional imbalances in access to higher education.
(2)  Ensuring equity in higher education.
(3)  Ensuring availability of adequate Faculty.

(4) Encouraging establishment of private Universities.

Erdr (66.a0.30.2.) ©¥g0 5708 28 ?

(1) |rosab wlirddcd Sufod GR) & ASg ©0L08 wocberins®d Ebdo.
(2) &8 DgS® Vg FBoSdo.

(3) WB% SEe 22308 efobBabio.

(4) ySew FgAarge ah :gv‘bfo‘{m (@ Sy&roso.

‘Ujwala’, the scheme of Govt. of India is meant for helping the victims of
(1) Trafficking (2) AIDS
(3) Bonded labour (4) Natural calamities
Gt ol g Ed (Debde SPEgEo JH0 ‘é.:s’ﬁo‘irgo &3R080E08 ?
(1) edody P E wrBhen (2) .;)01)53 (AIDS) 2B &hen
(3) 3 =80 wrhSHhew | (4) (2538 ;_t.’aéég Qe
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136. One of the following is NOT the objective of Govt. of India programme ‘Beti Bachao, Beti
Padhao’ :
(1) Prevention of gender based sex selective elimination
(2) Ensuring survival & protection of the girl child
(3) Ensuring education and participation of the girl child
(4) Ensuring employment to girl child

800 TIT* g8 (Lehds SO ‘B oS, DS LarsH ©¥g0 5B :
(1) ©off 8grdd JnES Jeondoido

(2) rd¥c G¥m, DHEDH &S so

(3) wrdSw arHdgingo, g ErEho

(4) 2rd8ed eIrd EOyouko

137. The only express limitation imposed on the power of retrospective legislation is
(1) under Article 20(1) with regard to penal laws
(2) found in Article 245 with respect to extra-territoriality
(3) found in Article 368 with reference to amendment power
(4) found in the Basic structure theory

60 TO ¢ 0B wwoch Wod & WG edes TadEoD &) 28 2.8 whigd HODS
(1) (BYDS SgreH How0fod oreErgorfod™ (DESo 20(1) argoe

(2) orergolf (¥ 245 o &W) 8™ (FHS0ES

(3) orergol (D880 368 & &) orergolf DS (DH(8ad

(4) orergoli S5O Joyes ?Jgﬂ’oéoeﬁ"iba

138. The power to impose and assess a tax
(1) is not an essential legislative power.
(2) is an exercise of subordinate legislature.
(3) is an executive power.
(4) is an essential legislative function.

) DHOR), WHOY) 85 o

(1) éé)a&):()a TR o5 80 5.

(2) oS FToUR Dm&m 8.

(3) 965{00‘5?’.:% s 5o.

(4) TR TR VOOBOWR SHYIV0 IB.

139. The Council of Ministers shall be collectively responsible

(1) tothe House of the People (2) tothe President of India
(3) tothe leader of the legislative party (4) tothe leader of the opposition
JRDE 0|8 Wo&d Vb aJ‘c‘,SSé Q008 ?
(1) &°E L (2) ogpas
(3) A URverwE SrabBH0s (4) (PSDE T abBHAS
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140. The President’s power to grant pardon is to be exercised

(1) on the basis of judicial opinion (2) by the President on his own

(3) on the basis of Statute (4) on the advice of Council of Ministers
TH08 D egrdorr DY (D003 685 o) AAA0DHH0ERE ?

(1) mgo:b o Frabo sgrdorr (2) &% sromr

(3) =0 werbor (4) DoBOED Ve )

141. Alegislature in exercise of its legislative power cannot
(1) extend to its own territory a law made by another legislature
(2) directly override a Judicial decision
(3) validate an ultra-vires legislation after becoming competent
(4) make retrospective legislation

TRy R TOTE S 08578 N@oS® Jaborad

(1) 38K Tdmry TO Sgray E HETAS HGod Tabe

(2) @Jéggorr‘ mgoﬁa 369505)‘@}5: @d‘é)a,boéc‘c‘i).

(3) S3aBLORES BI THTDE g0 LONG Sumgs Lribss EDAOSED.
(4) eS8 HYoLTah FIRo Babdoeed.

142. The Governor of a State
(1) shall not be a member of either houses of Parliament or any state legislature
(2) should not be above 35 years of age
(3) should not be an Indian citizen
(4) should also hold any other office of profit

o5y D)6 Vow0H0N 808 FEE* 2B VTG ?

(1) FEDEE® 57, F=00 VFSF 2R Vehglh SPoeEd.
(2) 35 i:ofaéao*o éa“l o)éna,‘b ‘éoﬁzz’\nbodovcss.

(3) e2rdd ddh stoed.

(4) 288 ordorad VA O GodHTR.

143. The Supreme Court has affirmed that it can order the restoration of the State Assembly
dissolved by Presidential order in the case of
(1) S.R. Bommai Vs. Union of India
(2) State of Rajasthan Vs. Union of India
(3) A.D.M. Jabalpur Vs. Shukla S.S.
(4) Radha Krishna Agarwal Vs. State of Bihar
VRS D argegod’  orpgdd  «gsd 8%  Bbadd ovfy  wvod
LRHL00WHB $)RE00 DR ?
(1) IR.eb. Ty Vs. 9288 (Dghdgo (2) mag’s o~R90 Vs. a8 (Bebeo
3) 8.5 2adPrs Vs. e 0. . (4) ooerEyn womed Vs. 6 090
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144,

145.

146.

147.

148.

149.

150.

Which of the following district has the highest cropping intensity in 2012-13 ?

(1) Nizamabad (2) Khammam (3) Karimnagar (4) Nalgonda
& 800 TU° ©o¥ Dobe BB He (2012-13) 2

(1) Qedrerd (2) wiyo (3) %6056 4) ¥l
‘Enamamula’ in Telangana is famously known for

(1) Textiles (2) Grain market

(3) Silk (4) Pilgrimage centre

Boomnd® ‘Jhdrive’ &8 (©%8.

(1) SF9e0 (2) odgowrTue (3) (4) Yesg gSo
The proposed ‘Pharma City’ by the Telangana Government will be located at

(1) Jeedimetla (2) Shamshabad (3) Muccherla (4) Shamirpet
Buomnd® Hehds (LB ‘Fo e ILET) [rodo

(1) <aze (2) Hoarerd (3) Jwyy (4) &L

Which of the following district ranked last in Human Development Index (HDI) of
Telangana in 2011-12?

(1) Medak (2) Mahaboobnagar (3) Nizamabad .(4) Nalgonda

&1 808 > Bromed™ ) g WND D) DY (HDI) & (2011-12) &° DHO
gmboé" &od ?

(1) w&E (2) Drerdoifd (3) Derdrerd (4) ‘.b;?"oc‘ﬁ

Which among the following districts in Telangana State does not have inter-state
boundary ?

(1) Ranga Reddy (2) Hyderabad
(3) Nalgonda (4) Mahaboobnagar
808 VEY®) @ 2 oo ooRIOS* wodBorgad WO T ?
(1) &omd& 2) r&orerd (3) ol (4) DIardornd
Telangana Water Grid aims at providing drinking water to
"~ (1) Towns and Villages (2) Greater Hyderabad only
(3) Rural areas only (4) Major urban areas only
6 808 ¢33 E*thAD wodoBEo Buomrm WO (NG VEZo G, adHo
(1) Dheres, (TrEres (2) (A&8 rSorers hr¢gd
(3) (v (rosres Sr(@D (4)  Swpg RS (Foered LrED
Indravati is a tributary of
(1) Mahanadi (2) Krishna (3) Godavari (4) Tungabhadra
20(TH8 8 G SLR
(1) %0 2) S (3) Aordd (4) oS
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